Al 7Y (—ab)? x a® + a®b & & 0, o] o]
IE AL

#4

—ab)? xa® = a®*b = a®b® x a® + a®b
( )
=a*b? = a%b

=ab

1
(—ab)? x a® + a®b = a®b* x a® x =5
a‘*b? ¢
a3b
=ab

1

EIES

;

(-ab)? x a® + a®b = a®b® x a* + a®b
— 2t2-ap2-1

=ab

® ©®
sk
i

Jdo
e
=}
ol



2. —x?x(=2x%)% xdxty? = AxByC A W, A - B+ C 9] F2?

>R
=%






4. éx(le— 5) - 2x(2x + 1) & 7H5ks] 3 Ao]A] 2 o] A%E g x O
ALE p S o), ab 9 FHL 1Sk

w
=



5.  (5x—2y)(-3y)E o] 5FH?

D -15xy — 6y? @ -15xy - 5y? @ —15xy + 6y?

@ 15xy + 5y2 ® 15xy + 6y?



6.

y=2x-324 ], -7x+2y+2 = x o] T3

@O -3x+4

@ —-3x—4

@ 3x+4

B -3x—-3



7.

ohe B4 x o Boto] Folet,

5:

X =

6:(2x—y)

YERE




@ 6 B 8

3 5

D 3



9. -4 2 =BT, 182 A, BE ol85te] Lehw?

1 AB3 ® A3B B) A2R3 @ A2B (B) A3R?






11.

oF §lo] Aol7t 3a %l A=A Fulo] ALE A, a2 24E B
g o, A+ BO| 327

D7 ® 9 ® 6a2 @ 9q B 6



6x—3y_x—|—4y_4x—5y
2 3 6

12.

® 2x+ 2y @ 2x-2y ® x+y

@ x+2y ® 2x+vy



13. o= T &2 A2?

rlo

@® 6x3 + (-2x)2 = -12x°
@ —4x® +2x3 = 242

® 8a*h? = 2(ab)? = 24°
1 1 1
2 = Ty = = _
@ (x +x).2x 555

® (4x% —y?) = (=2y) = -8x%y + 23



4a® + 6ab B 3b2 — 4ab

14. . 5

® 3b @ 8a+3b ® 8a+9b

@ 9b B 8b-9b



15.

Aol Yolzt 3xy ¢l ALAA 2] Bul7} 942y - 6xy° & o,
SEEREET LT

D x—y? @ 2x-y2 ® 3x-)?

@ 3x-2y? ® 2x—3y?



16. 2x-7y+1=x-5y ¥

ofet.

ge
»



17.

x+3y=2x+y¥

D1

@ 2

’

2x

o

o
U2?

® 3



18. 21° = 879 ], 9] & Fofoiel,

>R



ol
ol
o8
olg
Ko

oln

® o+
- a :613

B o + a2
a®+ad?+a?=a*

@yQ. 3
- 5
3 xy® =yt



20. () + () = 1 914 @ o k& Fofelk

>R
2%



21.

(~2a2520)? = e LW, x by 42 9 3

@D -3 ® -2 3 -1



‘:]— = Al A+ B+ —D_,] = 1 B, C, D—
H o] 7} o 0]’0:]1—"/]', (1;].’ A, : L
22 o Al O 31 C ,__TL

F)

xAyB D_ x12y20
(_ cz2/) 1638




23

3%+
3%+
35

25 +
25

43 +
43
+43 +
B

92 +
9% +
92

=%



215X1530 B
24. T < aA2 o] ot} o] W, 4 +a+ 1 9] gh& FSholzt

& e
c



25.

22004 5 52008 o] 242 ©] 4] T 1 9]

YER
c



26. G(x) = a®b* o]2t T W}, G(x) x G(2x) x G(3x) = G(Ax) ] A &&
Fsfolar,

B
=¥



27. the F A G, 09 A% e
@ (2x)% x 3xy? © (4xy)% x (_ﬁ)




a) - Jam [

1
b

)+

1

b—- =
a

2:30]5’_,<

b =

a

28.



?2(F x#0, y£0)

Sl Eap)

™ o

a0

10|

N



30. of" Aof 3x? +5x—4 & WIAHY 7x* +3x+1 ©] H U}, ©]
T5hH?

@D -4x2+2x-3 @ —-4x*-8x-5 @ 4x? + 8x—

@ 10x2+8x-5 ® 10x2+8x-3

il

3

Al
=1

o






10x - [Zy - {3x —(x=5y) - y}]

B
:'.7




33. oW t}g4l A oA 2+ 3x-5 5 wlojop &
Jic

—2x? —4x + 3 ©] H It} o] wf, oj" tt

®© -3x2-T7x+38

@ —x2—-x4+2

@ -3x2-x-2

® 3x24+2x-5



—x(x—y+2)+3y2x+y+4) = —x>+ Txy— 2x + 3y> + 12y



—

35. o3 2"a Zo] o] ¥R F9] Holvt 2q, YES] Fujrt
(24a%b — 20a®b)m L T}, a = 2, b o|Z L5}o]
2},

I
w
117
&




